Let E(rB) = 10%, E(rS) = 17%, (B = 12%, (S = 25%,

(BS = 0, and COV BS= 0.

Minimum Variance Portfolio (MVP)

WB = ((S2  - COV BS)/((B2  + (S2  - 2COV BS)

WS = ((B2  - COV BS)/((B2  + (S2  - 2COV BS) = 1 - WB
Hence, 

WB = (252  - 0)/(122  + 252  - 0) = 0.8127

WS  = 1 – 0.8127 = 0.1873

E(rMVP) = (0.8127)(10%) + (0.1873)(17%) = 11.31%

VAR(rMVP) = WB2(B2 + WS2(S2 + 2WBWSCOVBS
=  (0.8127)2(12)2 + (0.1873)2(25)2   = 117.04

(MVP = SQRT(117.04) = 10.82

Optimal Risky Portfolio (P)

Let E(rB) = 10%, E(rS) = 17%, rf = 8%, (B = 12%, (S = 25%, (BS = 0.2, and COV BS= (0.2)(12)(25) = 60

                   [E(rB) – rf](S2  -  [E(rS) – rf]COV BS

WB = -----------------------------------------------------------------------------
   [E(rB) – rf](S2  + [E(rS) – rf](B2 -  [E(rB) – rf  + E(rS) – rf]COV BS

WS = 1- WB

                   [10 – 8]252  -  [17 – 8]60
WB = ----------------------------------------------------------- 
    [10 – 8]252  + [17 – 8]122 -  [10 – 8  + 17 – 8]60
= (1250 – 540)/(1250 + 1296 - 660) = 0.3765
WS = 1- WB = 1 - 0.3765 = 0.6235
E(rP) = (0.3765)(10%) + (0.6235)(17%) = 14.36%

VAR(rP) = WB2(B2 + WS2(S2 + 2WBWSCOVBS
=  (0.3765)2(12)2 + (0.6235)2(25)2 + 2(0.3765)(0.6235)60 = 291.55

(P = SQRT(291.55) = 17.07

